Podhuri — Harta

1931/5

KATASTRY

933/129[933/146  930/17
navrikomun‘—ll‘etopa|plénovona komunikace — lll.etapa

PARCELN( CISLA

DRUH POVRCHU

LOM

LOM

LOM LOM

LOM LOM

b-6'd 001 : /008 | QOAONATd 118 - 1140¥d ANT3Q0d
NSFUMAA ) OMLIYIN ‘HYSH0
2102/€0 ANLYQ MIrodidd Y AOAONATd 1SYQ
. QOAONATd S0 0S 2IM3rE0
0£'ze0012 QY O¥d LSONIAVEAA YHOINHOAL
ANZYAINZ OSR) "Il HIF - 93dOM [9S11 - |[SVTHONA
$Za+dsa 1390 VYEAVLS
WXz LYN404 DIOIAVHHINOTYAN TV | JAVTHOUA 00
10 L¥S ‘AONLNML ‘©G YXMOINIr0dS Vi JAVIHOUAOLSIN - -HDLSIANI
0's PLONGUVLS I FOVIVISNI THONHOZL (;«\\ /§ NNJQ\&
w Z _|_|m m m |‘ |_| \ MONIANVIONI YAOYYHOAQ m__~_<_>_\ R e 3ZJ9 NYFONI
.. IVAOTOYLNOM IVAOIVHdAA 1INVIN3r0dd 400z NIM3r0dd |INOA3A

G0 OS

IOVZIV3Y V INJ10AOd INE3AVIS Odd 3JOVLNINNMOA

o
o
vv°08F 0¢°L 07l ¥C'6Ly ¥v08H /0078 T
NOMJI1SYZ NQOAONATA 115 INIONOMN G708y 0¢'L 07l GC'6/y 9 08I\ /0L 98 2
(¢ Q4 0dd VIFOdNd N 97°08y 0L 0} 9C'6/F 0S08Y Y 0¢98 :
8¢ 09 08d Vrodlud 97087 0€°L 0Z'L 9¢'6Lv 1087 | 0098
607087 0£°L 07 mmumm 00087 \wwmw
ussgniz spng — OAQOUA|d
®MUZ 9PN = QOZNG porouiid IS 6°6/7 05l 071 618/ 00'6L 089
\ 2e6Ly 0SL 0C°L 208y €48L 0519
206Ly O£l 07l €08y ¥/8L 0%'19
\ CC6LY 6CL 611 £0'8/Y SL8L 0£°19 5
£ 90°8LY 08°09 D
= 60°9LY 0¢°09 s
\ _ LT6Ly ¥TL #L'L S18LY 06'8L 05°66 )
2 TREMEN \ oo, T Riniam auite |
pu-—"dl 10/ /% |0 ]
e e T = [FIE i ug L
U5SIZ 3pNG — 00ZNG POACUATD TS / 0L Ly e 8/'6/y 071 0L 898/y S96/ 0¢ '8 S
00CNQ Y/ADU—o2DZI[DUDY JUZDUBJP \ - < L98LY 008y Yo
OGNQ UJADU—DAOYD[] d1Jd" [DUDY N2 99'8LY 0Ly L2
0SNG/ ¢ 8Ly YADU=DAO%D[} 01 d"[DUD &= 99'8LY 00°LYy o|Y
0GNG/0C 8. UIADU—DAOXDR d1Id Uy \\/ > & GO'BLY 0L 9% El
DEN #707=panopon g = eL6L7 0CL 0L) wwumm 87'6LY wwmw 4
ToSMIZ 3pNq — 00ZNG POACUATT 1S/ / Jg o €L6Ly 0CL OLL €98y [y6iv | 05GY | [o
[fe]
/ \ 2 NE
= |
= 2508y 07l 0Ll Zv'6Ly 00087 10688 [0S
\ \ = 86087 07’1 0Ll 88'6/7 GE'08\]L00GE  |[Q]=
v6°18% ¥Z'L L'l 08°087 0018 08/¢ |2 ¢
c 15787 9¢'L 91l GEI8Y 8v'l8 s |l IS
= 1718 00cC || |2
08NJ Y4ADU—POAODPOA o) @%.—wﬁu O¢.NN _ ROu W
OGN/ 90 T8% UIRDU-DAOYDT LT ToUDY i e A ]
S o b\ o) wo an s (86 w0 x4 S
b2 b2 P ! 7 —
00ENT HNDU—99DZ[DUDA JUzDUSIp : = == 7878v 6l'l 60'L /8y (2180500 ||| 2]
STTTe Ry S6787 OC'L 0Ll G818y 00Z8% | 056l |~[o] &
/ = LLS8Y 9T 9Ll 19°78Y 9878 . w28
2 888y GC'L SU'L £/'28y 00€8N\|/ 05l [Z|=| -
/ = e or1 o eah e il (97|
. = = . Lo, 88 . IS
DADIET-[IAQU—NN [9q0Y 7/ o o eG¥8y €C1 1L 0¥y 00'8Y 006 LI o
/ \ o €948y ¥T'L ¥I'L 6Y'58% SCv8Y e 18lgl
DAD}S [[—UJADU—30DZ[[DUDY / | > 98y £C) Bl mwmmw B 06°¢ M o_d ,m
DdDYe [[—JADU—POAOPOA %\ — 68 o GO'¢8Y 91O el B i
- == s B ot B ey skl
§ZZ 0 3d IS MiZ0134d e =
NONVAOLY3MO¥AA YN LIPOdVN ey <« 8
< =
_ =
&
_ S
| . 5 -
_ PN zZ 5 & =) < e B
ole) -~ & @z b
o o mv IR — o< T X 3
S =< O (@] = [aa) = — L -
< S _F = T z2 2 2 o = E=x2 9
S &g > £ 2 <« 5 = & Efw =
8 x&EF = zZ ¥ &2 = 8 w© =< E @
— = = > I— P [n's << > < == 0 V
s 3z& Lo 5 £ 3 & 2= Froesg
x 23> (o) - &% o e &z O EZTS
— = | =
— 0 O < <C o oD <C <C = = E O N =
o h > o O = o ° —~ = © Z2 5905
L D o \O — — \O \O [ = Z X J




